## MATERIALS COSTESTIMATE

THIS FORM IS THE PROPERTY OF FINISHED BASEMENTS L.L.C. ANY DUPLICATION OR REPRODUCTION OF THIS FORM IS PROHIBITED & WILL RESULT IN FINANCIAL PENALTIES IF DUPLICATED OR REPRODUCED WITHOUT THE WRITTEN CONSENT OF F.B.L.L.C.

981700050000000689601

TTENTION ALL HOME DEPOT REPS YOU MUST SCAN THIS KEY TAG FOR EVERY TRANSACTION PURCHAS FOR FINSHED BASEMENTS LLC CLIENTS EVEN IF CLIENT IS PAYING WITH THEIR OWN FUNDS ALSO THE REP MUST EMAIL THE TRANSACTION TO FBLLC AT finishedbasementsllc@outlook.com

Name: MARK & KAREN RAGAND		Phone: (586) 731-29		Date: 10-30-18	
Address: 1245 WYNDOT		City: ROYAL OAK, MI 480		Area: BASEMENT #	
LINE #	ITEM #	TYPE OF SUPPLIES	COST @	QTY	TOTAL
1	000-000	SUPPLY TYPE	\$5.96	168	\$1,001.28
2	000-001	SUPPLY TYPE	\$7.80	40	\$312.00
3	000-002	SUPPLY TYPE	\$11.46	16	\$183.36
4	000-003	SUPPLY TYPE	\$13.67	19	\$259.73
5	000-004	SUPPLY TYPE	\$10.91	2	\$21.82
6	000-005	SUPPLY TYPE	\$13.67		\$0.00
7	000-006	SUPPLY TYPE	\$31.02		\$0.00
8	000-007	SUPPLY TYPE	\$22.98	4	\$91.92
9	000-008	SUPPLY TYPE	\$41.95	3	\$125.85
10	000-009	SUPPLY TYPE	\$0.46		\$0.00
11	000-010	SUPPLY TYPE	\$0.48		\$0.00
12	000-011	SUPPLY TYPE	\$0.51		\$0.00
13	000-012	SUPPLY TYPE	\$12.65	67	\$847.55
14	000-013	SUPPLY TYPE	\$15.82		\$0.00
15	000-014	SUPPLY TYPE	\$16.88		\$0.00
16	000-015	SUPPLY TYPE	\$12.65		\$0.00
17	000-016	SUPPLY TYPE	\$15.92		\$0.00
18	000-017	SUPPLY TYPE	\$2.28	1	\$2.28
19	000-018	SUPPLY TYPE	\$11.32	1	\$11.32
20	000-019	SUPPLY TYPE	\$19.26	5	\$96.30
21	000-020	SUPPLY TYPE	\$2.27	20	\$45.40
22	000-021	SUPPLY TYPE	\$2.85	20	\$57.00
23	000-022	SUPPLY TYPE	\$3.98	1	\$3.98
24	000-023	SUPPLY TYPE	\$2.98		\$0.00
25	000-024	SUPPLY TYPE	\$3.48		\$0.00
26	000-025	SUPPLY TYPE	\$2.30	20	\$46.00
27	000-026	SUPPLY TYPE	\$2.63	20	\$52.60
28	000-027	SUPPLY TYPE	\$48.87	1	\$48.87
29	000-028	SUPPLY TYPE	\$55.20		\$0.00
30	000-029	SUPPLY TYPE	\$12.59	1	\$12.59
31	000-030	SUPPLY TYPE	\$20.70	4	\$82.80
32	000-031	SUPPLY TYPE	\$14.37	1	\$14.37
33	000-032	SUPPLY TYPE	\$10.55	1	\$10.55
34	000-033	SUPPLY TYPE	\$16.75	4	\$67.00
35	000-034	SUPPLY TYPE	\$14.98		\$0.00
36	000-035	SUPPLY TYPE	\$63.97	1	\$63.97
37	000-036	SUPPLY TYPE	\$35.63	1	\$35.63
38	000-037	SUPPLY TYPE	\$15.99	4	\$63.96
39	000-038	SUPPLY TYPE	\$5.79	1	\$5.79
40	000-039	SUPPLY TYPE	\$18.49	1	\$18.49
41	000-040	SUPPLY TYPE	\$9.47		\$0.00
42	000-041	SUPPLY TYPE	\$13.21	1	\$13.21
43	000-042	SUPPLY TYPE	\$6.93	1	\$6.93
44	000-043	SUPPLY TYPE	\$6.48		\$0.00
45	000-044	SUPPLY TYPE	\$18.48		\$0.00
46	000-045	SUPPLY TYPE	\$4.18	1	\$4.18
47	000-046	SUPPLY TYPE	\$6.65	1	\$6.65
48	000-047	SUPPLY TYPE	\$5.50		\$0.00

49	000-048	SUPPLY TYPE	\$9.97	1	\$9.97
THIS F	ORM IS THE P	ROPERTY OF FINISHED BASEMENTS L.L.C. ANY DUPLICATI	ON OR REPRODUCTI	ON OF THIS FO	RM IS PROHIBITED
&	WILL RESUL	IN FINANCIAL PENALTIES IF DUPLICATED OR REPRODUCE	D WITHOUT THE WR	RITTEN CONSEN	IT OF F.B.L.L.C.
Name: N	IARK & K	AREN RAGAND	Phone:	(586) 731-	2952
LINE #	ITEM#	TYPE OF SUPPLIES	COST @	QTY	TOTAL
50	000-000	SUPPLY TYPE	\$24.97		\$0.00
51	000-001	SUPPLY TYPE	\$9.97	1	\$9.97
52	000-002	SUPPLY TYPE	\$426.65		\$0.00
53	000-003	SUPPLY TYPE	\$113.85		\$0.00
52	000-004	SUPPLY TYPE	\$250.12		\$0.00
53	000-005		\$6.89		\$0.00
54	000-006		\$14.97	1	\$14.97
55 56	000-007	SUPPLY TYPE SUPPLY TYPE	\$7.32 \$5.69	1	\$7.32 \$11.38
50	000-008	SUPPLY TYPE	\$7.25	2	\$11.30
58	000-009	SUPPLY TYPE	\$9.97	J 1	\$9.97
59	000-010	SUPPLY TYPE	\$7.97	1	\$7.97
60	000-012	SUPPLY TYPE	\$5.78	1	\$5.78
61	000-012	SUPPLY TYPE	\$12.58	1	\$12.58
62	000-014	SUPPLY TYPE	\$68.74	1	\$68.74
63	000-015	SUPPLY TYPE	\$44.77	3	\$134.31
64	000-016	SUPPLY TYPE	\$78.17	1	\$78.17
65	000-017	SUPPLY TYPE	\$54.87		\$0.00
66	000-018	SUPPLY TYPE	\$24.97		\$0.00
67	000-019	SUPPLY TYPE	\$39.97		\$0.00
68	000-020	SUPPLY TYPE	\$24.95	13	\$324.35
69	000-021	SUPPLY TYPE	\$34.96		\$0.00
70	000-022	SUPPLY TYPE	\$34.97	3	\$104.91
71	000-023	SUPPLY TYPE	\$58.78	1	\$58.78
72	000-024	SUPPLY TYPE	\$79.96	1	\$79.96
73	000-025	SUPPLY TYPE	\$52.98		\$0.00
74	000-026		\$1.68		\$0.00
75 76	000-027		\$5.90	3	\$17.70
76	000-028	SUPPLY TYPE SUPPLY TYPE	\$15.97	2	\$31.94 \$53.91
77	000-029	SUPPLY TYPE	\$17.97 \$19.99	2	\$39.98
70	000-030	SUPPLY TYPE	\$0.26	28	\$7.28
80	000-032	SUPPLY TYPE	\$1.97	20	\$3.94
81	000-033	SUPPLY TYPE	\$1.18	2	\$2.36
82	000-034	SUPPLY TYPE	\$2.37	2	\$4.74
83	000-035	SUPPLY TYPE	\$0.98	2	\$1.96
84	000-036	SUPPLY TYPE	\$44.98		\$0.00
85	000-037	SUPPLY TYPE	\$54.97		\$0.00
86	000-038	SUPPLY TYPE	\$180.00		\$0.00
87	000-039	SUPPLY TYPE	\$10.97	1	\$10.97
88	000-040	SUPPLY TYPE	\$4.39	2	\$8.78
89	000-041		\$39.97	1	\$39.97
90	000-042		\$1.49	2	\$2.98
91	000-043		\$1.13	4	\$4.52
92	000-044		\$0.97	4	\$3.88
93 94	000-045	SUPPLY TYPE	\$1.51 \$59.12	71 9	\$107.21 \$532.08
94	000-046	SUPPLY TYPE	\$38.69	9	\$552.08
96	000-047	SUPPLY TYPE	\$9.11	12	\$109.32
97	000-040	SUPPLY TYPE	\$2.90	71	\$205.90
98	000-050	SUPPLY TYPE	\$6.01	27	\$162.27
99	000-051	SUPPLY TYPE	\$1.84	40	\$73.60
100	000-052	SUPPLY TYPE	\$7.59	9	\$68.31
101	000-053	SUPPLY TYPE	\$34.97		\$0.00
102	000-054	SUPPLY TYPE	\$3.70	2	\$7.40
103	000-055	SUPPLY TYPE	\$1.10		\$0.00

104	000-056	SUPPLY TYPE	\$91.98		\$0.00
THIS F	ORM IS THE F	ROPERTY OF FINISHED BASEMENTS L.L.C. ANY DUPLICAT	ION OR REPRODUCTION	ON OF THIS FO	RM IS PROHIBITED
		T IN FINANCIAL PENALTIES IF DUPLICATED OR REPRODUC			
Name: N	IARK & K	AREN RAGAND		586) 731-	2952
LINE #	ITEM#	TYPE OF SUPPLIES	COST @	QTY	TOTAL
105	000-000	SUPPLY TYPE	\$278.30		\$0.00
106	000-001	SUPPLY TYPE	\$71.41		\$0.00
107	000-002	SUPPLY TYPE	\$136.21		\$0.00
108	000-003		\$150.76		\$0.00
109	000-004		\$163.99	1	\$163.99
110 111	000-005	SUPPLY TYPE SUPPLY TYPE	\$111.01 \$111.01	1	\$111.01
112	000-008	SUPPLY TYPE	\$113.13		\$0.00 \$0.00
112	000-007	SUPPLY TYPE	\$113.13		\$0.00
113	000-009	SUPPLY TYPE	\$115.92	1	\$0.00
115	000-003	SUPPLY TYPE	\$115.92		\$0.00
115	000-010	SUPPLY TYPE	\$242.01		\$0.00
110	000-012	SUPPLY TYPE	\$242.01		\$0.00
118	000-013	SUPPLY TYPE	\$251.27		\$0.00
119	000-014	SUPPLY TYPE	\$251.27		\$0.00
120	000-015	SUPPLY TYPE	\$273.75		\$0.00
121	000-016	SUPPLY TYPE	\$273.75		\$0.00
122	000-017	SUPPLY TYPE	\$9.38	15	\$140.70
123	000-018	SUPPLY TYPE	\$15.28	6	\$91.68
124	000-019	SUPPLY TYPE	\$1.10	79	\$86.90
125	000-020	SUPPLY TYPE	\$0.84		\$0.00
126	000-021	SUPPLY TYPE	\$110.40	1	\$110.40
127	000-022	SUPPLY TYPE	\$70.15	1	\$70.15
128	000-023	SUPPLY TYPE	\$0.70	32	\$22.40
129	000-024	SUPPLY TYPE	\$0.82		\$0.00
130	000-025	SUPPLY TYPE	\$2.58		\$0.00
131	000-026	SUPPLY TYPE	\$0.35	70	\$24.50
132	000-027	SUPPLY TYPE	\$1.32		\$0.00
133	000-028		\$1.16		\$0.00
134	000-029		\$30.00	2	\$60.00
135	000-030		\$130.00	1	\$130.00
136 137	000-031	SUPPLY TYPE SUPPLY TYPE	\$6.49 \$129.00		\$0.00 \$0.00
137	000-032	SUPPLY TYPE	\$129.00		\$0.00
130	000-033	SUPPLY TYPE	\$239.00	1	\$239.00
139	000-034	SUPPLY TYPE	\$59.00	1	\$59.00
140	000-035	SUPPLY TYPE	\$49.00	1	\$49.00
141	000-030	SUPPLY TYPE	\$88.00		\$0.00
142	000-038	SUPPLY TYPE	\$89.00	1	\$89.00
140	000-039	SUPPLY TYPE	\$99.00		\$0.00
145	000-040	SUPPLY TYPE	\$159.00	1	\$159.00
146	000-041	SUPPLY TYPE	\$160.00		\$0.00
147	000-042	SUPPLY TYPE	\$200.00	1	\$200.00
148	000-043	SUPPLY TYPE	\$24.44		\$0.00
149	000-044	SUPPLY TYPE	\$241.98		\$0.00
150	000-045	SUPPLY TYPE	\$7.97	5	\$39.85
151	000-046	SUPPLY TYPE	\$4.98	4	\$19.92
152	000-047	SUPPLY TYPE	\$5.45	1	\$5.45
153	000-048	SUPPLY TYPE	\$265.00	1	\$265.00
154	000-049	SUPPLY TYPE	\$19.49		\$0.00
155	000-050	SUPPLY TYPE	\$29.98		\$0.00
156	000-051	SUPPLY TYPE	\$87.96		\$0.00
157	000-052	SUPPLY TYPE	\$49.97	1	\$49.97
158	000-053	SUPPLY TYPE	\$500.00	1	\$500.00
159	000-054	SUPPLY TYPE	\$18.46		\$0.00
160	000-055	SUPPLY TYPE	\$12.49		\$0.00

161	000-056	SUPPLY TYPE	\$20.54		\$0.00
THIS F	ORM IS THE F	ROPERTY OF FINISHED BASEMENTS L.L.C. ANY DUPLICAT	ION OR REPRODUCTIO	ON OF THIS FOR	M IS PROHIBITED
		T IN FINANCIAL PENALTIES IF DUPLICATED OR REPRODUC			
Name: M	IARK & K	(AREN RAGAND	Phone: (	586) 731-2	952
LINE #	ITEM#	TYPE OF SUPPLIES	COST @	QTY	TOTAL
162	000-000	SUPPLY TYPE	\$42.99		\$0.00
163	000-001	SUPPLY TYPE	\$2.30		\$0.00
164	000-002	SUPPLY TYPE	\$7.37		\$0.00
165	000-003	SUPPLY TYPE	\$11.47	1	\$11.47
166	000-004	SUPPLY TYPE	\$30.00		\$0.00
167	000-005	SUPPLY TYPE	\$50.00	3	\$150.00
168	000-006	SUPPLY TYPE	\$3.93	1	\$3.93
169	000-007	SUPPLY TYPE	\$18.38	1	\$18.38
170	800-000	SUPPLY TYPE	\$8.98	1	\$8.98
171	000-009	SUPPLY TYPE	\$17.98		\$0.00
172	000-010	SUPPLY TYPE	\$5.75	5	\$28.75
173	000-011		\$45.00	2	\$90.00
174	000-012		\$61.99	(	\$433.93
175	000-013		\$49.43		\$0.00
176 177	000-014	SUPPLY TYPE SUPPLY TYPE	\$40.00	1	\$40.00 \$30.97
177	000-015	SUPPLY TYPE	\$3.97	2	\$30.97 \$7.94
178	000-018	SUPPLY TYPE	\$22.97	2	\$7.94
179	000-017	SUPPLY TYPE	\$30.56	2	\$0.00
180	000-018	SUPPLY TYPE	\$3.97		\$0.00
182	000-019	SUPPLY TYPE	\$22.45	1	\$22.45
183	000-020	SUPPLY TYPE	\$54.98	1	\$54.98
184	000-021	SUPPLY TYPE	\$19.97	1	\$19.97
185	000-023	SUPPLY TYPE	\$17.78	2	\$35.56
186	000-024	SUPPLY TYPE	\$17.16	1	\$17.16
187	000-025	SUPPLY TYPE	\$7.98	2	\$15.96
188	000-026	SUPPLY TYPE	\$40.00	2	\$80.00
189	000-027	SUPPLY TYPE	\$40.00	1	\$40.00
190	000-028	SUPPLY TYPE	\$26.88	1	\$26.88
191	000-029	SUPPLY TYPE	\$1.43		\$0.00
192	000-030	SUPPLY TYPE	\$9.51		\$0.00
193	000-031	SUPPLY TYPE	\$11.02		\$0.00
194	000-032	SUPPLY TYPE	\$5.17		\$0.00
195	000-033	SUPPLY TYPE	\$7.73		\$0.00
196	000-034	SUPPLY TYPE	\$89.93		\$0.00
197	000-035	SUPPLY TYPE	\$85.10	2	\$170.20
198	000-036		\$25.37		\$0.00
199	000-037		\$398.00		\$0.00
200	000-038		\$4.00	4	\$16.00
201	000-039		\$19.57		\$0.00
202 203	000-040	SUPPLY TYPE SUPPLY TYPE	\$18.98 \$2.86	1	\$18.98 \$17.16
203	000-041	SUPPLY TYPE	\$2.86	6	\$17.16
204	000-042	SUPPLY TYPE	\$21.98		\$21.98 \$0.00
205	000-043	SUPPLY TYPE	\$22.20	2	\$0.00
200	000-044	SUPPLY TYPE	\$11.36	2	\$23.10
207	000-045	SUPPLY TYPE	\$3.43	2	\$6.86
200	000-040	SUPPLY TYPE	\$40.00	7	\$280.00
210	000-048	SUPPLY TYPE	\$34.50	•	\$0.00
211	000-049	SUPPLY TYPE	\$7.60		\$0.00
212	000-050	SUPPLY TYPE	\$18.05		\$0.00
213	000-051	SUPPLY TYPE	\$160.00	1	\$160.00
214	000-052	SUPPLY TYPE	\$160.00	1	\$160.00
215	000-053	SUPPLY TYPE	\$160.00	1	\$160.00
210					

10% RETURN OF MATERIALS AT THE END OF JOB	\$1,115.16
<b>TOTAL ESTIMATE FOR MATERIALS PRE DISCOUNT &amp; PRE TAX ONLY</b>	\$10,036.43







